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a) Iwiferzd Fhia b) &fe 27 Glezet ST
Q) e PR S d) ERE S

TENA FRIT T 2FF (ACF ([ I BEFIeHrg QLD avie 0, G
2

a) @ W Sor o b) e wgf shme

0) FreTeTs siagel @ AfRFEReTs d) SR e elfee S
o o1



(x)

(i)

(xiii)

(xiv)

(xv)

(xvi)

(xvii)

(xviii)

(xix)

Moded Questionwith Answer Key 39

CABE &f6

a frwefepE b) SR Ay

0 ST afevie d) wNwEifes afed
SRR FrwlR sTces swrifFe @ (G A= 2o —

a UGC b) NCERT

¢ NCTE d) AICTE

Tl eipTRorE Jhes2l AfRmRed ey Rifore 2rafee
a) T GG CIIED b) e 2SRt

C) ST 51 FCoTS d) T (GfRR ZA5HTE
SRSl Tl Aol «3 FAT I

a) Wy et e b) wISIERR e

C) I cel d) efel Mg el
a2 i o 2

a) W NPT I b) Rs FEpRERI 0
0 e et g d)

AW RWpeTC R s 2o

8 TIEG ¢ gl ol b) &7 e ol omr
0 WSl ¢ Mg ol d) TG e T e
Grave SR 91f5® 2

a 1997 f: b) 1995 fX:

0 1992 fa: d) 1987 f4:

SRR SIfeale S 27

a 2001 fa: b) 2002 f:

©) 2003 fa: d) 2004 fa:

a 1970 - 1980 f: b) 1980 - 1990 f4:

¢ 1990 - 2000 f: d) 2000 - 2001 f:



40 Moded Questionwith Answer Key
(XX)  CTETa S ARaIe Frafee
a IME b) WHO
¢) UNESCO d UNO
(ood)  TRPl 207 SRR — R TR
a ffwices b) o fbTE
0) CIfew™ (e d) GRS
(xdii) w1 RegRTces e
a) R sfeere Wi g cotate. b)  fEREE R 2GR
0 sl ol IR IRge 22 d) RS 0%
(xxiii)  PCI ey R 25
a (A= R b) e =R
0) IR ST wieefarge d) “ARmEfoR E
oodv) R IR W et ek fee
a SdamancaCommisson b) Ddor'sCommisson
c) SSA d) Sadler Commission
2. fmferfie empoifera Tea wie (g epafer sedi) - 1x16=16
(i) SIS g6 iRy (o1 |
BRG]
SRS Tl 7/ I 0T 2
(i) #eeT afeal e
(i) AR seae 36 e ¢ F Fie
(iv) cxifests i
(v) NCRHE &3 5[t F2fG 1 2
(Vi) CRC [l 326 F 2
(vii)  gfeere s Fie

(viii)

DIET R9[Ced Sl 1 2



(ix)
)
(xi)
(xii)
(xiii)
(xiv)
(xv)

(xvi)

Moded Questionwith Answer Key
s afeadia fafiei 391
(TorpC G Sbeelale FRETiE Srael 9
AfiRE frwl S AR FiFhs a7re a2
GEERIDRCE ST
Gl SR IR Yo gib (514 |
RERgeTs ifdaifdfun i et
S5 PICP e 2
GB 5o Il 1 2

Answer Key

Part - B

1. @b (e (i)a @) a W d )b
Gii) ¢ (¥ d Wb ()b  (k)d (i) d
) a (i) a (i) ¢ (vil)a kX b () c
0odi) d - (odil) d - (odv) b

(vi) d
(xiv) ¢
(i) b

41



42 Moded Questionwith Answer Key

EDUCATION
SET - 1X
PART - A (Marks: 40)

1. @@ a3 d0e7 Ted wie ¢ 4x1=4
(8 T € IR AT T ST 54|

(b) A e P ePIcR TPmisfer St 35 |

2. @@ GI0 AT TeA WS 4x1=4
(8) ‘0 ey el - T s Qi < |

(b) Precrce 2fes TRIEH 9 D 54 |

3. (3 (I b AT T WS 8 x 2= 16
(8) PIa= IC JceT 2 MITas w9)fe1 7S FKCERCH (574 | 2+6
(b) =o€ T wrgd fRERlTe wie (514 |

(c) %1% (Mean) TS 0T ? [WHeTe sifo1e a5+(ba 3 (Median) FeRi 12 + 6
Score 70-71 | 68-69 |66-67 |64-65 |62-63 |60-61 |58-59 |56-57|54-55

f(frequency)| 2 3 2 5 8 3 4 1 2

4. @ YL ATHE Ted wie - 8x2=16

(8) 1986 G R il TIfex 21 eliIfsRe S < (17 7w Fifzis)fer Ststmat
|

(b) ISR FTEITTa RupleTaepz it Ao T1F =74l |

(c) Sifir fersl FhmicTa FifFafd Rrr SO @ T2 7o Fonfmioffer scarma
341 4+4

PART - B (Marks: 40)

1. () TR s =i 2o —
(a) 4= (Retention) (b) 7=1gce= (Recall)
(c) eerifee (Recognition) (d) #ifzers= (Maturation)



Moded Questionwith Answer Key
(i) SR feere e ge1 —

(@) A= (b) fezs=
(c) wifenayg (d) wrerg
(i) e ST ol G SrareAlaly ARy 2o —
(a) Aafsaerel (b) 3
(0) ojeiors =liefy (d) =fe
(iv) T&IEa ogib (@ e #ifdfoe —
(a) @b e (b) & SRS
(C) SNy S (d) SIS See
(V) “Sered OgiHes I61 2 —
(a) Type-| (b) Type-II
(c) Type-lli (d) Type-1V
(vi) 'Mentality of Apes 2=b aif e 28 —
(a) Sudo Al (b) S»30 A
(c) s»xe A (d) Sseo e
(vii)  #IfZPRA AR A € T (FIE ANLHF 77 27 —
(a) ~Ifera (b) ey
(c) Tl (d) fagfe
(viil) AT wyeffer F@T 27 —
(a) s =i (b) wlRer% CF=
(o) wreifks i (d) el o=
(ix) oMo sTers <ol &3 —
(a) T (b) =
(c) Rfezm (d) BreE (Sforase
(x) wiferig S @ Fic #Iffoe —
(a) =il Ml S (b) e st sfmie

(c) T TSI fermt Ffaie (d) ResRwrier Fhm=
(Xi) TE ST AN & FiEe 257 —

() ifer e (b) e FH

() CRNT FhRI (d) TS FhpE



(xii)

(xiii)

(xiv)

(xv)

(xvi)

(xvii)

(xviii)

(Xix)

(xx)

(xxi)

Moded Questionwith Answer Key

(IO FTMITTR T *[g 2wt —

(a) S»eR A (b) Sou8 A
(C) SOV AT (d) Sobv A
A TR [eAlG et —

(a) ol <te oS (b) BRI Wy kes
(c) il wre Rew (d) = e e
OITOR ! FETT o1 I 25 —

(@) wifere i (b) oI FHM
(c) T S (d) =S &l Hifs

DIET-93 =t 1% 261 —
(a) DidrictInditutionof Education (b) Direct Ingtitution of Education

and Training and Training
(c) DidrictInditutionof Education (d) Deveopmentd Inditutionof
and Teaching Educationand Training
NEP-&= %Gl % 21 —

(a) Nationa Education Policy (b) Nation Educationd Policy
(¢) Nationd Educationd Priority  (d) Nationd Educationd Privacy
e FERIIfs 1986 AT (S Wifditd 2iife 23

(@) 11 @fze (b) 21 @felst

(c) 21 (d) 21« ™
A Ryl i et —

(a) e s (b) R FHMCT

(C) Sobv AT Sror Rrmiaifed  (d) i< filg St
ST 10 + 2 + 3 R Ao 23

() miferara hmie (b) =IFFe whH
(c) IOl (d) TVl (TG Sl
I @ AR R @Il =i zeT —

(a) @2 o=fs (b) e o=
(c) GifeF si=fs (d) TakingBook
(@351 A=fere I O 9E 1 22

(a 9 (b) 6

(c) 8 (d) 7



(xxii)

(xxiii)

(Xxiv)

2. ()
(i)
(iii)
(iv)
(V)
(vi)
(vii)
(viii)

(ix)

(x)

(xi)
(xii)
(xiii)
(xiv)
(xv)
(xvi)

Moded Questionwith Answer Key 45

46 ¥ TS oS AT Se][P® &2 —

(a) wfiface (b) SN
(c) Cetel™ (d) wr=eaNfasice
RS (@I Wit ‘eifsal et 2 ol 23 —

(a) 15 «fetet (b) 15%i6

(c) 1035 (d) 10 gfetet
16, 8, 10, 11, 8, 10, 12, 8, 14-93 (\I'® © 3 ?

(a) 16 (b) 8

(c) 10 (d) 16
YR FICF CeT 2

“reret I3 1 2

LfBIZTHS FEATSS G FET0O F (AN 2
4,3,5,7,9,10 gne (Rl N el 7|
ZGT (IPBIF N~ ST (574 |

UNESCO - &+l I (374 |

AR F?

fRfmrIeTs ShMICR SICe, o7 @ Tt Jferaiit REple Toele] o 2
oSl R fRWIeTCR Fp=iifee (P Fhmia weafeet 2
fqeE g Fi 2

(S A=fox AT (2

2T PIC AT ?

el 2w 0 ‘M’ @ 7 2

SIS AL 45 7R QIRCS I I ZRCT ?
RN TS FICF 0T 2

oS! I A0 2

Answer Key
Part-B
(Ha(i) d(iii) c(iv) d(v)a(vi) c(vii) d(viii) b (ix) b (x) b (xi) b (xii) b
(xiii) b (xiv) b (xv) a(xvi) a(xvii) b (xviii) c (xix) ¢ (xx) ¢ (xxi) b (xxii) ¢

(xxiii) b (xxiv) b



46 Moded Questionwith Answer Key

EDUCATION
SET - X
PART - A (Marks: 40)

1. @ 9T ATHE Ted Wi 4x1=4

() iR et fereer oyt aefe

(b) < MEFIT eCarG el 9jfe1 (o7 |

2. (T (I GF0 AT TSA WS 4x1=4

() ‘G Sy - QR S |

(b) AT FFITHIAT 2Ciel [FoIa T4 (@09 22

3. (I (I AT T WS 8 x 2= 16

() M= FICP e 2 MG CERRa)fer e1el|

(b) PRI TEAM ©g € B g TAMIT Srgd 2112 (12|

(c) (FHT ITOIF sifawist FicF o1 2 et a6ata ffa e 2

(%7 | 10-19 | 20-29 | 30-39 | 40-49 | 50-59| 60-69| 70-79| 2+6=8
f 4 11 15 | 12 5 2 1

4. A I YL ATHE Ted wie - 8x2=16

(8) TR R (I MR (1=l 2 TR Rupierd 7itsF 141 1+7=8

(b) Swiferes FfpITaa ST R SIS TolF (=12l |

(C) (AR FITT AT ST TS PP A @ AR FAF (&< | 4+ 4= 8

PART - B (Marks: 40)

1. () PerEsyiceeg Ice 7=t 37 899 ?

(a) 4= (b) 3=

(c) 2= (d) 1&g
(i) TIPS (I M2 (FHITT (e TR 2

(a) == (b) efoizs

(c) #rese (d) cr=sTR



Moded Questionwith Answer Key
(iii)  eropifoes A =12 251 —

(a) (b) ¢

(c) V=4l (d) s exl
(iv) TR ool Jifox 7Rl 2e1 —

(a) Wb (b) fo=®

(c) o= (d) sirefo
(V) QAR 0o 2SN Toivie 261 —

( 5T by 7%

(c) 9% (d) 117
(Vi) CoPBIFS *twa =1l 2retl —

(a) fRiws (b) el

(c) =i (d) o=E1
(vii) =R 720 Tally oz 2@ —

(@ I (b) Il

(c) Il (d) 1l
(vii)  cifel qpe = (i) —

(a AR 2P (b) RIS

AP CRIE]

o e (d) 2o1i x el
(ix)  SNOCefbg oewe] B Y S A 27—

(a) Ifelr S (b) e Tt

() = sifaant (d) == Wiy
(x) R ST Swer 4 foet —

(a) 3@+ (b) 5T

(c) 10T (d) 9T
(xi) ensne fefmteTcas it —

(a) R (b) FRFZe! FfmC

(c) wifer Ffmitas (d) wrorR RErifos



48
(xii)

(xiii)

(xiv)

(xv)

(xvi)

(xvii)

(xviii)

(Xix)

(xx)

(xxi)

Moded Questionwith Answer Key

TEI ST T LIFIF A ZoT —

(a) =@ 350 6 (b) e 450 &

(c) =400 (d) =w 4341

Sifae sl SR sy 1A —

(@ 9@ (b) 127

(c) 10% (d) 7

FIA SIRCoR A = FhmET 2eT —

() LRFF M (b) rigfse <wfamie

(c) wrom frwidifs (d) IR Ffapei

Mg fopt Sl oifoe 2 —

(a) 19523tz 23 (¥ PTC7o= (b) 1953 iteT 23 (%I g
(c) 1950 AT 23 (= W6 (d) 1952 e 23 =i Gl
T2 fwterar (Multipurpose School )-93 SRt 21 967 23 —
(@) SMfRE rm I (b) ORI

(c) el Rl 1986 (d) @reiT FERI® 1968 o
MgfsRs P SR RS oo s faet —

(a) 311 (b) 321

(c) 328 (d) 340

‘Education and National Devel opment” RIS (I S {Hitag —
() LRFF T (b) IfeTE P

(C) (R FfI (d) “Tieag Ffmw

ST TRl ST SIoF I —

(a) fis R e (b) GRS Pl

(c) TrufRwyiera el i (d) @reim == Sife

SR SIS P! 2izel a1 28 —

(a) 2001 e (b) 2002 e

(c) 2003 e (d) 2004 AT
NLM-ag #[tat I —

(8) =yIIe FIfeR e (b) =yi=et wTesjCRer e

(C) “eleT qUCIIa fois (d) “i=reT fetbicaft i



2.

(xxii)

(xxiii)

(Xxiv)

(i)
(i)
(iii)
(iv)
(V)
(vi)
(vii)
(viii)
(ix)
(x)
(i)
(xii)
(xiii)
(xiv)
(xv)
(xvi)

Moded Questionwith Answer Key 49
RAM -3 %A 2eT —
(a) RandomAccessMemory (b) RandomAssistanceMemory
(c) ReadAccessMemory (d) Read AssigtanceMemory
POA-93 910 28 —
(a) 1995 AteT (b) 1993 At
(c) 1994 At (d) 1992 HAlteT
eI e Sifore 2 —
(a) 46 (b) 9%I6
(c) 105 (d) 11 =5
Electric Theory-93 ¢Sl (5 ¢
TG RIET 1< FICP 0T 2
(BGI® AP 7@ (=14 |
NG FICF 0T 2
it b (3% 12|
(@25 2o FIH Gy IS 2 2
NCRHE-&3 {1 1% (71¥|
CICRIGRRKIERaE N
R SPRE =] IECo F (@R 2
TRERIR PTG 91 o1 12
ofe S (i T |
Operation BlackBoard % ?
R TSI a7 =12 1 2
DIET-&3 %G1 A1 F 2
CRC-&3 #[(a1 i I 2
(I (A0 I 2RI 2 %[y 23 2

Answer Key

Part-B

() b(i)d(iii)d(iv) d(v)b(vi)d(vii) c(viii) a(ix) c (X) c(xi) b (xii) b
(xiii) a(xiv) a (xv) a(xvi) a(xvii) a(xviii) c (xix) b (xx) b (xxi) d (xxii) a
(xxiii) d(xxiv) a



50 Moded Questionwith Answer Key

EDUCATION
SET-11
PART - A (Marks: 40)

1. @@ a3 d0Ha Ted wie ¢ 4x1=4
() I I IR A0 2 S AR ITEIoyfeT F 2 1+3=4
(b) T i FICF ACeT 2 ITF IR TG Telo)feT (&74 | 1+3=4
2. (T (I GF0 AT TSA WIS : 4x1=4
(8) (ToTa EHER BIFI B F 2 ([ (I (T TS S 3 | 1+3=4
(b) ORI~ &2 SR 2N Sraiyajfel (=12 | 1+3=4
3. (I (I Y AT T WS 8 x 2= 16
(8) AR HIC JceT 2 W @ AR W 721 SN 51 | 2+6
(b) =B SRS 26T (I ? MFFTHCG DI SRS A9} (&7 | 2+6
(c) stes 6 @R (514 2 #ifPiat 360 SR SITeteTe (Histograph) & 3 |
2+6
&G 55-59 | 60-64 |65-69 |70-74 |75-79 |80-84 | 85-89 |90-94 (95-100
AT 2 4 7 9 10 9 7|5 3
4. @ YL ATHE Ted w6 - 8x2=16
(a) AFYe FHRMHCTT I @ (qfos R T=I0F @74 | 8
(b) SegfrRe R STz 2K AT Foilfo)feT Senbal 31 | 8
(c) TermrIz SNYfaSIFael STolTF (OIS FIHTTR oM Tol(F (12! | 8

PART - B (Marks: 40)

1. (i) e e (Human learning) SSACe fefets Sreitel sl 341 2030z —
() 3wl (b) 4eital
(¢) 27l (d) 5l ]



Moded Questionwith Answer Key 51
(ii) T AT P2 F = i< 2

(a) WSl e (b) eieerEs e

(c) Sgfouer M4 (d) ez (5B feiie ]
(iii)  ~Ifere @ 2 fow afen

(@) =i (b) e

(c s (d) e ]
(iv)  oiferse ze1 —

(a) =i eif (b) PRI elfe

(c) erid afws (d) TR aifF ]
(v) Jfeare coReliw v sy oeb —

(a) ehresTres (b) =

(c) TCACTA (d) syeTCeTR ]
(Vi) (el QI FIRel 209 2Altd —

(a) wlerz (b) (FTgzst

(c) A (d) fces ifdey ]
(vii)  STCAICAICS R fodizs —

(a) 22 (b) 3 e

(c) 4= (d) 7 o= ]
(viii) RGO Slees oee —

() ORI SCCAE (b) zele ez

(c) RIS =Nem (d) wIfers =rem ]

(ix) “General Intelligence Objectively determined and measured” &1t (i welb
oIS 27 —

(a) TR g TAM ©g (b) PRI Besme og

(c) farTcices fawifas aifs (d) PR AZTog ]
(X) N2 SeRCe wRelfer Tl iog —
(@) 3wl (b) 2T

(c) 5ol (d) 7ol ]
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(xi)

(xii)

(xiii)

(xiv)

(xv)

(xvi)

(xvii)

(xviii)

(Xix)

Moded Questionwith Answer Key

OIRCed AT B A 57 —

(@) 1947 s 183 TR
(c) 1947 AiteT 123 W

(b) 1947 FAics1 182 W6
(d) 1946 ITs1 183 TR

“National Council of Rural Higher Education’ sifde =z —

(a) 1947 At (b) 1956 At

(c) 1948 AT (d) 1949 s
eNiNe FRfRwieTee SroIwcelcss HrripieTs i et —
(a) 23=Fd (b) 4<=czw

(0) 13=Fd (d) 3=csA
Segfere R Sl e [l e 2w 2

() 2@ (b) 3@=

(c) 1@+ (d) 5@

Sl 2891 (gl T fRteTe —

(a) Rmifwyrers e (b) TiegfRs Frwl S
(C) O S (d) &S FErieifos
OIS R SRR T —

(a) 1948 - 49 (b) 1964 - 66

(c) 1952-53 (d) 1990 - 92
(R2H-F LS T —

(8) AR (e (b) =721 (@2

(c) G (d) st gfa

JE 2[5~ 2TEF ZCE —

(2) TR R0 el (b) o=

(©) = syerre (d) el SyteTel
T RIS I —

(a) AIfe=s fmR (b) IS i

(c) IRl =l (d) =S fersml



(xx)

(xxi)

(xxii)

(xxiii)

(Xxiv)

(i)
(ii)
(iii)
(iv)
(V)
(vi)
(vii)
(viii)
(ix)

Moded Questionwith Answer Key 53

= 2gfea 5M 2eT —

(a) i, MW, ceofzaes, fem  (b) i, W, cnibces, fifear
R (1T R (AT

(c) SyM, W, (esfem, Ffer (d) s, G, (iR, ]
IR (LT (TG RRETT @3 ife

TRWIeTC yawsiCers <yl 2es g 28 —

(a) @rHiz-9 (b) frETe

(o) realitaes (d) w@Ce ]

CIET (Central Ingtitute of Education Technol ogy) S St =iifsre 27 2

(2) NCERT (b) NCTE

(c) UGC (d) DPEP ]

CIET = AtsT =iIfore 23 2

(a) 1984 (b) 1986

(c) 1964 (d) 1948 ]

R PRI W~ OB ICIR [ o T —

(a) W=RIEE FHmE (b) @I (TRl

(C) ATl Ff=ie (d) fZsT <wfamier

17l 2%1 o <e100 F (@9 e

O AN =T F 2

TS, SN @ 2f S 00 (@R ?

ESCRISECR BRIt

RS YR TOSIC9] ©l5] FACR € FI I 2

i 2 qe e < e @1

DIET-qa3le I 2

fual RvpeTa <@Ce (@RI 2

T FoT-GF AN (I ST 2



(x)
(xi)
(xii)
(xiii)
(Xiv)
(xv)

(xvi)

Moded Questionwith Answer Key

MR ! B S R Toi0 Jriferia Ffhmitas =il F w2
TR e FRECTR STl AT Ao 46 N (o12l|

ST (A H 2

@I ST fqor @ Fi 2

(IO FIMICTR WA I (=74 |
ATIBIT Ve SomieTaffer F St 2

foRTCRITG RRRgere JIgi Soimie 6 ¢ F 2

Answer Key
Part - B
(iHa(i) b(iii) c(iv) a(v) d(vi)d(vii) a(viii) c(ix) b (x) a(xi) a(xii) b
(xiii) a(xiv) a(xv) b (xvi) b (xvii) b (xviii) a(xix) a(xx) d (xxi) b (xxii) a

(xxiii) a(xxiv) b



Moded Questionwith Answer Key 55

EDUCATION
SET-12
PART - A (Marks: 40)

1. T PF GF ATHE Tea 7S 4x1=4
(8) SRS AR OGH (&74 |

(b) R Sl {3 2 7R ST FIRela|fer @12 |

2. (3 (I GF0 AT Teq WS ¢ 4x1=4
(a) @IoRl el fiplas erRejfel 2

(b) “fer e CaRRIREN @74 |

3. 3 (I YL AT TeA S 8 x 2= 16
(8) T foafG 32y NI FI FI 2 RERCHG Fepced Aifed 409l 141 2+6
(b) =Mleiz T ACeT 2 TR SNERT Sl S 31 | 2+6

(c) AT ReIee FITF 90T 2 G (AT PRI 3G AT 25 & R
sifaean [aeie < Ghifera w4t
82| 72| 77| 69 | 64 | 78 | 71 | 63 | 72 | 73 2+6

67| 60 | 76 76 72 |81 | 8 | 86 |65 |72
75| 62| 84 67 70

4. @ PEYH ATHE Ted wie : 8x2=16
(8) SROR = FhRMCTR RvpeTepr F=IS Foiifmiofer (=14 | 8
(b) SIOR MFEIGifere 2is (A el '@ RER 750 FI A 1 2022 8
(c) ATNS ST Fofifamia)fer (=14 | 8

PART - B (Marks: 40)

1) 2w, o, SiEeTgl Tred RwEl Srmia et —
(a) *C@ (b) smICeT
(c) ~TesTe (d) = ]



56

(i)

iii)

(iv)

)

(Vi)

(vii)

(viii)

(ix)

(x)

(xi)

Moded Questionwith Answer Key

SFG(E HIfRnE FLll ACETR —

(a) = (b) sprICeT

(c) =TT (d) syeerente (Mc. Lelland) [ ]
SRR G gl Wiz i =16 o1 —

(a) =g (b) wife

(c) =rel (d) Aferser ]
oy sifefs e SPre el oifgs =l (e —

(a) 1904 At (b) 1906 AItsT

(c) 1912 Aitet (d) 1913 ATe ]
TGS FRAGRE wsig 7w = —

(a) (BGre ANwe! (b) R 7 Soimie og
(C) QMBI WeTo[S ToifEl (d) L~PICT AR oG ]
QBT Fe191S AT Ogioa B9 as —

(8) FerimenicTs RCsmia v (b) ACHICAR weTal Somie

(C) TCACEA N R og (d) BFRIT og ]
TG AP TG el (T 7@l 95© 2 —

(@ N34 () 5 +1

(o) 2% (d) =X ]
100 - 109 -« (X3t Hrs(ia 7e] —

(a) 99-110 (b) 99.5- 109.5

(c) 100.5-109.5 (d) 98-108 ]
AR A @ IR (T 74 267 —

(a) frgfe (b) @
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(a) Fwyer (b) e &=y 92
(c) o9z (d) @0IR T
AR AT ACEH € FAWH (HFF W& AILHCE A —
(a) IR (b) ey

(c) celferaia (d) fagfe

A et age /7 B2 (F ——— @RICS 72 1 23 |
(a) e (b) gt

(c) rifer (d) e

S 251 ——— [ CFCE-

(a) =49 (b) o=

(c) s (d) ==

AT OGLIF & 27 —

(a) Type-| (b) Type-II

(c) Type-IIl (d) FI=GIE
TO0g (2Rell € T s 39 MRS —

() e (b) e

(c) ofoizs (d) PRIz
O O0g “M” FEI0o QIR 2R

(a) oo el (b)  erePmTeR el
(C) *HMIIIZICIF Fo9 (d) <RI el
FoRzsyIas Ao wogs uit Tomi 2cel —

(a) GeS (b) SeB

(c) GeR (d) (1B

@ eFerei e SIfTwitsi W 99 (e @ ey ze 1 —
() % (b) 1N

(c) s (d) e e

5 ifeTsy fRERR W —

(a) 25 (b) 3%

(c) 8 (d) 5%



Moded Questionwith Answer Key 75
(xxii) R SIACOR 22 ] Fhw 2o —

(a) Yifers Hfwiel (b) NFF FHR=
(C) (RIS i (d) =S fsmie ]
(i) FERILCPE GIgS 2H—LASCTH S CHIC |
(a) @2 (b) faom
(c) v&m (d) vy []
(xxiv)  FISOII 2L oI 261 —
(a) UPS (b) CPU
(c) o (d) e ]
2. (i) wiFsRfea Sy 1x16=16
(i) LAN SI?
(i) Acamz fwyler e
(iv) <l Fie2

(v) ClassIntervel 2

(Vi)  SIRes ICF A0 2

(Vi) TS LT S I 0T 2
(viii) T2alfe ST2alTes PICP A0e 2

(ix) [ A2l FoTCe S (R 2

(x) Im A2

(Xi) ARG P FeIre F @R

(xii) NLM € RFLP @3 [l <13 (e74 |
(xiii) NAEP € NSS &3 #Jta1 «II¥ (&7 |
(xiv) RRfFFARFTS! (Functional Literacy ) ICo 1 (ARl 2
(xv) = Je
(xvi) FfEre e e

Answer Key

Part B
1.i)d, i)c, id)a V)b Vv)a V)b vi)b, |\ii)a X c
X)a X)d, xi)b, xi)d, xv)c xv)c xv)a xvi)a xvii) a
Xix)a, xX) a xxi) ¢, xdi) b, xdi) d, xxiv) b,



76 Moded Questionwith Answer Key

EDUCATION
SET-17
PART - A (Marks: 40)

1. @ @ a0 ATHF Ted Wi ¢ 4x1=4
(8 TS IR G 2o Ml Aoe|fe] STl 31 |

(b) T MR TP @ STofeT SICETbal 3541 |

2. @ (I G0 ATeE Ted i 4x1=4
(8) G Gy R — Tl

(b) T*HRIT FICOICER 937G SICEAD 35 |

3. (I (I b AT T S 8 x 2= 16
() SUPTCETE CeR Ogb SNCeTbal 4 |

(b) =i € FRF SRR AL (=12 |

o o

(C) TN FICF 0o ? TNHIRIS 607 =i fefzy 541

(&35 10-19 20-29) 30-39 40-49| 50-59| 60-69 70-79
f 2 5 7 10 13 6 4
4. A I YL ATHE Ted wie - 8x2=16
() ver il Rl 2 G FifRey “ie FRe Srare 3 | 2+6

(b) Reifmper S 2l Rl g Fonfmojer &74 |
(c) My Ml SRR sTaR9fet SIiteTbal < |

PART - B (Marks-40)

24x1=24
1. () AR IGYCEAX € Yy ST QAT —
(a) 91T Vs AR (b) TR Vs sz
(c) Tl Vs sifereat (d) o Vs i ]
(i) ——— %o (AT 2RO ] (A SN S |
() v (b) =pri™

(c) hre (d) st ]



iii)

(iv)

(V)

(Vi)

(vii)

(viii)

(ix)

()

(xi)

(xii)

Moded Questionwith Answer Key

77

]

]

]

]

]

FRAFETYCE SRPICAR T2 e 7 ——— LIS

(a) 22+ (b) 637

(c) 29+ (d) 427

QBT WS SHAMITTR “S” =1 @RIT 28 —

(a) CIFSears (b) fiverel

(C) RN Lopes el (d) o =wel
IREEES] M ST g9

(a) “ip (b) =

(c) e (d) =16

“H{[R LN AT SNHROT —

(a) & WA T (b) frg Stiar AfSw corte
(c) ae byl wE (d) @RI

2000 ABITH TS Sieffre UNESCO 3 frel Seettad 3 i feet —
(a) Afca=l sl (b) femwael waeael

(c) oo fm (d) SR Sy (7l

P S e A 00" —

(8) 2T (b) (Ee FRME

(C) IO T (d) <iFge SR
oo afex @l ot ~AifeTe 23

(a) 15 «fem (b) 1535

(c) 10w (d) 10 @fefe

@ FHEMITT Cumulative Record Card @3 <217 419 521 767 T 2
(a) fefwyier @ (b) riayfr frsl S
(C) CHOF S (d) =Sty frl Tifs (1968)
aejifo TR o —

() @ (b) ¢t

(c) SNzl (d) o meal

CRIT AR GG

(a) 72 (b) fe=

(c) p& (d) e
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(xiii)

(xiv)

(xv)

(xvi)

(xvii)

(xviii)

(xix)

(xx)

(xxi)

(xxii)

Moded Questionwith Answer Key

e ¢ Sifzeifa Frs! ERRIBISCRIC)

(a) 25 (b) 20

(c) 21 (d) 24

(IO FIPICTR IS *g =W —

(a) 1964 e 231 SFIRE (b) 1964 eT 58 SRS
(c) 1966 e 231 SHIRE (d) =G

DG OF GG — @ AAfeTRT AP AT — eRb Mize
() R FRM (b) FrERsES

(c) @aiTTEl (d) =ig-ife

N Gy R — (Pl SR

(a) o (b) Ve (Ffee

(c) 2o= (d) wror fEriife (1986)
"Educational Equality v"' — @3 F2I sl Hrwiaifed (i SRS s —
(a) @x (b) wom

(c) vl (d) =GR

IGNOU =iifsfe 25—

(a) 1985 (b) 1990

(c) 1947 (d) IR
Lip-reading +=fs qg® 23—

(a) TR T (b) S FEe

(c) 3 e R (d) @ e @2 a7
Cash Study #=(fs &7 —

(a) Pyl e sl (b) (XETIgETE %o

(C) Clta s=fe (d) ToCaa aeyfet

A ARG S I 2 —

(a) AIeRs et (b) =i st

(c) Cafess o (d) @=HE

Each one Teach one — GRS gtet
(a) @ M ER (Dr. Lauback) (b) w2 @&feq
(c) &% e (d) o= A <

]

]

]

]

]

]

]

]



(xxiii)

(xxiv)

2. (i)
(i)
(i)
(iv)
(V)
(vi)

(vii)
(viii)
(ix)
(X)
(xi)
(xii)
(xiii)
(xiv)
(xv)

(xvi)

1. i) d,
X) b,
XiX) C,

Moded Questionwith Answer Key
1984 iteT CIET i S&IG =iifshe 28—
(a) NCERT (b) NCTE
(c) NLM (d) uGcC
L earning to be 3z elfetawe —
() TSCICH (b) TEf.f
(c) @Mz (d) ™=

rererg A9 IE10e I (@R 2
foxB e TetEa N (@12 |

(Bl gevifeste o (e |

NAEPS!?

ISR HEFTS] FOPHI o752
SEGRSE

SR e

ADHDS?

TRAIDE ST FIFe F 2
a5+ (Catharsis) 2

POA (1992) 570 F (3Rl 2
DIET fFlg (I 0= 70eo I 2
SAGRCeT 96 Y REfRwleTcas s ¢o12l |
NPE &1 [T 9119 (&74 |
SIS (P F 2

IR TR fgemt @’ Fie

Answer Key
Part B

i)y a i) c, V) c V) a M) a

vii) d,

79

[]
[]
1x16 =16
viii) b, iX) b,

x) d, xi) a xi)a xv)a xv) b, xi)d i) c xii) a

XX) a Xxi) a x«i) a xKi) a Xxxiv) a



80 Moded Questionwith Answer Key

EDUCATION
SET - 18
PART - A (Marks: 40)

1. @ PF 9F0 2T Ted wie ¢ 4x1=4
(8 PRI SbReiore TP SiResfer i |

(b) eNefrs frel e mace STPTIo|feT SICETbel 54 |

2. @ (I G0 ATHE Ted WS 4x1=4
() PICGY (97) I A0 2 W e @HRrefet =14 |

(b) (@R SRR BRI WS S 1 |

3. (I (I Y AT T WS 8 x 2= 16
(8) CIRCFT b2 YA REFoTgd Friore wiesx Tred 4|

(b) (ool PICF ACET 2 (AT (AMRB)feT ST 41|

(C) 2P (Range) JET0@ S (@RI ? fsiiis cwieffem e agge wiew 34 |

Score 70-79| 60-69| 50-59| 40-49 | 30-39 | 20-29| 10-19

f 1 2 5 12 15 11 4
4. A I YL ATHE Ted wie : 8x2=16
(8) AR PRI, R fRpeTR 29T @ Pz SIS 70 QP FHICag Aofmiojfer
T4 | 2+3+3

(b) i eeifirs ol Ft 2 G2 B TATE @R ST FAifamtoffer Srad 371 246
(C) 1986 AICHR T[N Frwlaifeg IeT TTy9fet SB35 |

PART - B (Marks: 40)
24 x1=24
1. () AR ——— R S0 e —
@ A (b) C
(c) B (d D ]



(i)

(iii)

(iv)

)

(Vi)

(vii)

(viii)

(ix)

(x)

(xi)
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BT 7 & il Sotmie zo7 —

(a) wifere (b) TS

(c) wifers @ Tare (d) T fersg ]
IR 0, G5 7 2eT—

() AeB3IW (b) <39 @ e

(c) CeD3f (d) g ]
SfaW a6 917 Theory of Intelligence3® @ I R A CECH |
() 2 (b) 7

() 5 (d) 8 ]
(SR (2ReR Trigge geT—

(a) IR (b) =1

(c) f=ierer (d) st ]
NG (el Tngel 2e—

(a) =l (b) i

(c) =a (d) SrcaTam ]
MERIS) R

(a) 2% (b) 4 =7

(c) 5= (d) 37 ]
"Animal Intelligence” — 32a B ReI—

(a) <o (b) #iesTe

(c) &g (d) (P 7 TS ]
RGP T SCafze—

(@) @Ik (b) =o€ e adl

(c) asb (d) @0 ]
etz M orea (el IR A

(a) caa e (b) =R =

(C) AR e Yo e (d) T FRCMECTT 1oy ]
ey IfeTRICE & 27—

(a) fFT I (b) PG |

(c) TrG I (d) o751 @ o511
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(xii)

(xiii)

(xiv)

(xv)

(xvi)

(xvii)

(xviii)

(xix)

(xx)

(xxi)

Moded Questionwith Answer Key

ARGIRCeIR ey KT ge1—

(a) TP fefmtera (b) FeTarel fRmfawyier
(c) Femiat Rwifmiery (d) sm@9fer

AAfRGaRCes @ (Far e ze—

(a) Fmrerzs! fefamier (b) ererel feefRwyier
(c) Tezer My (d) =9)fer

"Task Force"'— oiifa=i ze1 —

(@) @R (b) =GR ST

(c) mifera Fhmicas (d) Ge S
AW RIS SI7F 1N —

(a) PaceSetting School (b) PrePrimary School
(¢) Lower Primary School (d) Higher Primary School
R R G0 &) S AL AR 07 —
(a) 3 o (b) 3o

(©) 3w (d) IBRR

Fifre SRifamieca (Autonomous College) « 2l Ie7 ZRTE —
() el fFidife (1986) (b) @SR RErIIfs (1968)

(C) (IS TPl (d) wifers S
NSS @5 #[tdl 915 —
(a) National Socid Service (b) Nationa Socid Scheme

(c) Nationa Service Scheme (d) Nationa Society Service
PRI (e R el Soieael —

(a) slfTe (b) pealtet
O (d) F=effera
SIS T R T bie] 23 —

(a) 1978 JAitsT (b) 1979 HIteT
(c) 1977 ATs (d) 1976 s
ATl MR I Sl R A |
(8) TS 7w (b) S 7=

() asebTem (d) @I



(xxii)

(xxiii)

(Xxiv)

2. ()

(i)
(iii)
(iv)
(V)
(vi)
(vii)
(viii)
(ix)
(x)
(i)
(xii)
(xiii)
(xiv)
(xv)
(xvi)

1. i) b,
X) &,

XiX) a,

Moded Questionwith Answer Key

“FH Sl SR — IR =

(a) 2008 AlteT (b)
(c) 2012 At (d)
5o el S (TLC) %5 28—

(a) 1990 AlteT (b)
(c) 1991 At (d)
TLC ad=[ta=s —

(a) Totd Literacy Campaign (b)
(c) Totd Learning Compaign (d)

ZIEs 5 (Continuing Education Programme) 2i& s Sraly (314 |

Sfcred (& AfSH S 2

ET, =ie S (=i

W.W.W = 5T 1S 1 2

e- library 2

COBOL «q 71 «/I% (74 |

Tele- teaching ¢
Bfog e e

e fEF 0o F @RI?

I T 11T &= %{TIeTIsT (o7 |

CRC <3 Sty i 2

A YAIces KEefer I e
CABE ¢ SABE &= #[(a1l #I¥ (57|
(I YOOI A7 @IS FI (A2
SRS G Pyl (o714 |

w2y AT 5 419 @ F 2

Answer Key
Part B

2010 Ace
I T

1989 et
1992 et

Tota Literacy Company

Termlearning Campaign

i) b, )b, Mb Vb V)b i) d,
X) a i) d, xi)a xv)a xv)a i) a xii)a xii) a

XX) a xxi) b, x«i) b, xx«ii) a xxiv) a
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]

]

16x1 =16

Vi) &,

ix) &,
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Moded Questionwith Answer Key

EDUCATION
SET - 19
PART - A (Marks: 40)

@ (@ 930 AT Teq wie ¢ Ax1=4

(8 RN M Ml el Sraea)fel 1 2
(b) e elifRe WErE o0 (NRIER @ @ SR J7g=e sMew=i 74 |

2.

@ (@ 930 ATHF Teq wie ¢ 4x1=4

(a) “T0 Gy Al — 951 Tralyaffet =jcel RmpleTes sl (514 |
(b) ERICHE 2R)fex IR FRCHC (@74 |

3. (3 (I G AT T WS 8 x 2= 16
(8) SCAICAA! FETCo (@R 2 TR AR S SNl 39 | 2+6
(b) TRt (Fia =AICa a7 i 2 (%119 A3 A ol 51| 2+6
(C) (T eI A7 I e 2 (THfeTe (Fo)er HiifeT @ W ey 2|
2+3+3
38, 33, 39, 42, 41 41 47 29
38, 47, 37, 33 29 27 44 4
26, 44, 38 49 26 26 35 32
48 38 37, 41 38 47 26 38
40 35, 38, 35 43 51 32 44
4. A I YL ATHE Ted wie - 8x2=16

(a) M Fmw 7B IO ST A= ST 4|

(b)

(c)

1986 AIt=17 Tor rwiaifere Operation Black Board € <Iiama ier s1ota
CRCE I I AT 2 el 200" ? 4+4

Jhexql @ R EplE [0y 794 el <1



1. (i)

(i)

iii)

(iv)

(v)

(vi)

(vii)

(viii)

Moded Questionwith Answer Key 85
PART - B (Marks: 40)

AP o] FPIT TG TAMIA OO AET —

(a) Frse (b) e+foizs

(0) 2B (d) fareTczerg ]
‘ez 7eT Y NG G AT 20! [T SNieR” ACeTR

(a) fge= (b) AT

(C) IPgaNeT (d) (T2 7T GO Ny ]
AfeIfRrERIC TerHE @<k e T 120 ¢ 30 L A 2

(a) 40 (b) 90

(c) 150 (d) D ]
Aififescs @b 2P zet 10, ©iF Giifel b2 207 —

(a) I (b) 1N

(©) Ml (d) Bz am ]
R IR geT R — CeTCRe —

(a) AP (b) ®ifzbse

(c) oz (d) fre ]
(IO FHME A Srer & Fhme e feeg ——— 6 weaa 3
TR —

(a 72 (b) feao

(c) R (d) ~nfo ]
SlESHEENEICE] YA eIt e WL o #{fpifere
I ot elfSite 45 ot emie st e

(a) 18+ (b) 167k

(c) 28+ (d) 45+ ]
(H15 et 2M=ifs I77© 27— feriz &y |

(a) PR e (b) 7fR&Ww=

(c) @ IR (d) erFeEe Mo AHE [
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(ix)

(x)

(xi)

(xii)

(xiii)

(Xiv)

(xv)

(xvi)

(xvii)

Moded Questionwith Answer Key

Gre R 73 4wl I (NAEP) Fi%a1 28 —

(a) 1986 Al (b) 1987 e

(c) 1978 At (d) 2001 At

(7 10 - 14 2061 "i" 2@ —

(@ 5 (b) 3

(c) 4 (d) 6

@G @i A e w2

(a) WCwHRE T (b) @& 5=

(c) «pfiar (d) o gfemmmt Z=1
e TR U JE TR —

(a) Tefmyier el wfmica (b) Egfere el SR
(C) OISR el Sl (d) @rer REFife 1986
“fge e 77 I9ge 2 —

(a) FRRME & (b) 3 @ AR T
(c) PR dfsgdiona (d) PSSl
@fs BRIGaR Trizgel 2t —

(a) wIfGeJTH (b) Tt

(c) Efoe (d) colerczeie

g RPeTR FRPIT A (I Pl ST FCAC ?

(a) AFFe M (b) O i

(c) ifera e (d) wrei frwiifo 1986
TG BIETP R J[ETS 7T 2 —

(2) HgATC el (b) qfet rat

(C) SO @l (d) SERECR Al
(GeTH MG ARSI i 23 —

(@) 1990 At (b) 1996 At

(c) 2000 tet (d) 2001 Atet



(xviii)

(Xix)

(xx)

(xxi)

(xxii)

(xxiii)

(Xxiv)

2. (i)
(ii)
(iii)
(iv)
(V)

Moded Questionwith Answer Key 87
AT SO OO AT ZeAe —
(a) = (b) “fireste
(c) T (d) sz ]
(PID ST (TeTCaa K2 W8 w3 2
(8) SIS Gy sl (b) @ICE] PRI E
(C) TICS IR eIl el (d) 0l &y Al ]
10,7,14,11,15,16,18 CFI=ojfer S&yslie e ?
(2 115 (b) 11
(c) 145 (d) 14 ]
cxifel raaiece bfers wal g3 Becafer 7o —
(&) p=El (b) iwml
(c) fain (d) cuat [ ]
Statistik <o —
(a) iifes == (b) =R =<7
(c) oI =1 (d) @iy == ]
(xifel 60-65| 2vre (=lfaiba sk 2ot —
(a) 62 (b) 625
(c) 6.25 (d) 62.15 ]
O = e
(a) frca (b) sfEresc
(c) G CHid (d) =iferseti=
e oo 2 1x16=16
R G0 AT (TR |
FTIIR  ToAmE STEa g-GoIe 100 I (QIRE?
ALU & #0191 (&7 |
YfoifEa eI M (S TS AL T 2



88 Moded Questionwith Answer Key
(Vi) S.S A G3 ST F e
(Vi) I 8 JfCRR o Sy (el |
(viii) 21 RERE R SR FET0 (IR ?
(iX) TSR @ BCSF GF 2N (&7 |
(X) BRI 2
(xi) % R @ &I G 7% Srad 9|
(xii) TR I AR T AR F© QI I 2R 2
(xiii) EoR S frw sifam F A oifde 27
(xiv) A.l.CT.E<@Is@zaJle
(xv) ECCE3Tte S (IR 2
(xvi) CABE, SABE @ #J(<1 I (eT¥!|

Answer Key
Part - B
1. (i) c (i) c(iii) d (iv) b(v) a(vi) ¢ (vii) ¢ (viii) c (ix) ¢ (x) a(xi) d (xii) c
(xiii) a(xiv) b (xv) c(xvi) b (xvii) b (xviii) a(xix) ¢ (xx) d (xxi) b (xxii) d
(xxiii) b (xxiv)d



Moded Questionwith Answer Key 89
EDUCATION
SET - 20
PART -A (Marks: 40)

1. @@ a3 dHa Ted whe ¢ 4x1=4
(8 ITs, T @ YfeTH FIF IeT 23 ?
(b) % R Sraalfer (12|
2. (T (I GF0 AT TSA WS : 4x1=4
(a) “Learningtoknow” — 3734 |
(b) FrEriefes »Iff Cstva 5|
3. (I (I Y AT T WS 8 x 2= 16
(8) STwq M1 0 0T 2 Sre (3 MICas @a)fer o74 |
(b) ©ISR fEIGIfex (1986) T2 Ml ST=(F Fifziajfel Srard 41 |
(c) oIC 93 gt A2 (TR | Nl 1513 o7e fefE |
CFE| 10-19| 20-29| 30-39| 40-49| 50-59| 60-69| 70-79

f 4 11 15 12 5 2 1
4. YL ATHE Ted wie - 8x2=16
(8) MR PGS @TCe F (AR 2 PEHI STPICACoR aiRell S s11 1+7=8
(b) AR RApTeT T=ICF SICeTel 4 |

(c) ey e FfFaifa frml Te1ce F @Rl IFeT ¢ FifFeifd e Tpriejfet Staml
Bl

PART - B (Marks: 40)

24x1=24

1. (i) &I (Gagne) @3 A<t o*1F W 251

(a) <l 2 (b) FACFOETH i
(c) 4=l fare (d) T AT Wi ]



Moded Questionwith Answer Key

(i) reICHE + 2 W A e —

(a) WIfeTa SR (b) =aIgFe S

(c) Ol TRl famie (d) e FrEreife 1986 ]
(i) “(entre I~ 2B 2wt —

(@) (b) mear=

(c) WIBsT (d) B ]
(iv) P el o1 2rel —

(a) o@wa (b) oy

(c) = (d) (wrazeat ]
(V) {~>ITo AN e get —

(a) CAL (b) CMI

(c) RAM (d) CAl ]
(Vi) JITHICH = ghe zet —

(a) ROM (b) CAL

(c) RAM (d) CAl ]
(vii) &R 23 A e b zet —

(a) R-Type (b) Stype

(c) Mtype (d) Gtype [ ]

(Vi)  SNTSCETY & 7T (AR =i a1 2 —
() cxfdl gaicea sigfee (b) cxifel JRTTR THH

(c) cxfer p<anicerar ferseAn (d) *[= =P A ]
(ix) 10,12,9,14,4,6,8 (FIF4|fera G 257 —

(a) 10 (b) 8

(c) 9 (d) 12 ]
(X)  SIRSRI TR ——— IR 14 T2 G T (4 Srely RIS #FE

A e 1 2R |

() 467 4R (b) 45w «A™

(c) 16 R 4= (d) 28+ 4= ]

(Xi) YL FANR (I SR 2

(a) orelw EFifed (1968) (b) sl rwiaifes (1986)
(c) e = (d) o ST ]




(xii)

(xiii)

(xiv)

(xv)

(xvi)

(xvii)

(xviii)

(Xix)

(xx)

(xxi)

(xxii)

Moded Questionwith Answer Key

JMifera Fhmitas gl R 2@ —

() 7924 (b) 3=x

(c) 5= (d) 6=
(IS FCACST ST PR (I FIMITT 67 ZACZ 2
() wiferarr M (b) GRS arele
(C) ARFFe Tl (d) wror R 1986
Siare Afeqdl o oMt 91 T —

(a) 1573 «fere (b) 153

(c) 10T =6 (d) 10

GO ArFTe! e Riifore 7 —

(a) 1988 T (b) 1968 s
(c) 1978 e (d) 1958 s
FTHIC SRR Yo o1 —

(a) ROM (b) RAM
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PHILOSOPHY
SET -13
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